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2. WRECTER (SRPR) EMRIEAGELSRGHERT - BEFTHS -
o 3. SEREAG AR EYNES o S0 T3, TERE, —fHIE -
T B (I5/ME D BUINES Y - 3245 5 SRR ENEEE T AESR) ©
. PR GRERE S SR BE (True) 2 (A) "123">"15"  (B) "ABC"<"D"  (C) 1<1 (D) 2>=3
2, THUHEE VB RAMSSE A RREES T 1<x<9 H 2<x<10 X HYFIE?
(B)X<1 or X<10 (B)X>2 and X<9 (C)X>1 and X<9  (D)X>2 or X<10 |
3. VBRI - A= (1+5) *3-3%2~3/2 » FIBATASRER A X E R ? (A) 16 (B) -90 (C) 6 (D) 2
4. (9>3) and (2>2) or (5=5)HJEELERE?
(A) H(True) (B) {f(False) (C) 3 (D) 6 :
5. not ((7=9) and not (2>2)) or (not (3+5<7) and (6<5+3))KYMEEAEER 7
(A) E(True) (B) fiR(False) (C) 3 (D) 6 : -
6. NIRRT ER x-y2{EE?
(A)yx=9, y=5h (B)x=5, y=9 (C)x=9, y=% (D)x=5, y=5

Dim x as integer, y as integer

[y

x=9 : y=5
X =Y
y = X

7. FIPERH BZEER  x vy t Z{EE 2 | |
(A)x=106, vy=5, t=9 {(B)x=%9, y=5, t=10 (C)=x=5, y=9, t=9 (D)x=5, y=5, t=9
Dim t as integer, x as integer, y as integer :
®=9 : y=5 : t=10
t = x
X =Y
y = t
8. THIEH BT > kB ? (A)11 (B)15 (C)16 (D)17
k=1
For m=1 To 5
k=X-+m .
Next
o. THIEABMITER BRI X¥F? (&) A (B) B (C) C. (D) D
x=1 : y=6 ,
If (x>=1) or.(y>6) Then
If y<=5 Then

Msgbox "A"
Else
Msgbox "B"
End Tf
Else -
If {y>=5) Then
Msgbox “C"
Else
'Msgboi "pY
End If
End If
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10. H— vB #yfE=H BR0F ¢
Dim i as integer, 7 as integer
For i=1 to 9 step 2
Msgbox 1

Next

j=1 _
BATILAREZR B - TR ol 2 g
(A) i EANEES R 1,2,3,4,5,6,7,8,9
{B) For BYRE R AR
(C)Msgbox Hjiﬁﬂ’j%ﬁ%ffﬁi}%2 4,6,8,10
(D) J HY{E A 11

11. 55— VB MR BT -

Dim sum{3) as integer
For i=1 to 6

Sum(i mod 2 + 1)= sum(i mod 2 + 1) + 1
Next

BT RS B » TSGR IEE
( ysum () FE A 12
B)sum (1) HYEL 9
(C) sum (2) R 9 , ,
(D) sum(3) WY{EE 12
12. F—{EM#Y|E & DIM B(2,3,2) as integer » sHRHILIEIFIHTT R EBAE&E
(A}Y27
(B) 36
(C}45
(D)12

13. TIUREE0R BTk - x By ZfHRAT 2 (A)x=10,y=3 (B)x=10,y=4 (C)x=9,y=4 (D)x=9,y=10

X=9 1 y=3
If (x>y} Then
y=x+1
Else
x=y+1
End IFf

14. FHREEA B Tig > kBR (R) (B) 9 (C) 15 (D)22
Cim i as integer, j as integer, k as integer
1=0 : =0 : k=0
For i=1 to 5

For j=1 to i
k=k+1
Next
Next

15. —Fﬁﬁa—ﬁﬁ,ﬁx%ﬂ'_%ﬁ kKE/M? (R)5 (B)4 (C)3 (D)2 .

dim j as integer, k as integer

3=0 : k=0
Do While (j<=20)
It (3 mod 5) =.0 Then
k=k+1
End If
j=3+1

Loop™
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— ~ THER A BRBEVET 1 2 100 g9 - 12 2 50 5 AUEBIEME RS sum o - BREEEEAEEEE
fA > SRR RS R R SEER R - (10 43)

i=1

sum = 1

Do While ( 1<100 )

If (i mod 2 = 1) and (i mod 10 = 1)
sum = sum + 1

End

= EE TR BT e R R « (15 43)

Dim T(100) as integer, i as integer
For i=1 to 10

- T(i1}=100-1

Next

p=T(1) : g=T(1) : r=T{(1)

For i=1 to 10

If T(i)>=p Then
p=T (1)
End If

Tf T(i}<g Then
g=T{i)
End If

r=r+T (1)
Next
msgbox (p)

msgbox (q)
msgbex (r)
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(1553) '

i~ PEREE MRS 1 B - H—ak 10 EITREORE) T BTRKTR 123,4,56,7,8,9,10 B - 5
FUAHES] TIPS © IRENEOB R - T ZTEHRIFR 10,98,7,6,54.32,1 - (15453)



